EARAROBEEIERT — 2 N— IBISH —F 2019511830 (H) 3EEE2H

B o%2 B (CRE) [Tl B ‘(ﬂi} W ‘[%iﬂ%lﬂsﬁl] — | & (%) 17000 &
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o o2 | BREUAR 1:49.3 1-1-1-1 | 37.5| 85.5 | 2 542 | =mAE (XH)
TRl © f'}?/{7 A 492.0 =) (o) |HAFEA
R:7z/—*x/ B:eAr>vz0 R %5
S S, 4 2 | FEEH 1:49.6 3-3-32 | 37.5| 82.9 | 7 442 | FEEM (E3H)
4 2 KN #02.0 @) (-) |ZEEE_
Z:yQ7x B:XFNF BRT7— L
4 2 | BSAIEM 1:50.5 3-3-32 [38.4| 74.0 | 3 500 | KEFEIL (%)
3814 7 —AAL=b o . 55.0 (5) (=) |ZAT7LANTTT )
L:bhwHio-)— B:F7o-0-X FATLANITT
5 = o2 | BFER 1:51.1 7-7-7-6 | 38.7| 68.4 | 8 486 | BAIE (ER)
! i-?:{;{igzﬁ?/imy : 5.0 31/2) (-) |AKRE
. 3 : LR N
=¥ = 4 2 | BEBAN 1:51.1 5-5-5-5 |38.9| 67.4 | 13 454 | PERA (EH)
5058 Z/\'?fj o 55.0 (NF) (=) | nBA—
:yn7x B:YyM4=rJEa BEHFHIS
- 4 2 | HILFIE 1:51.3 2-2-2-2 | 39.4| 63.7 | 11 454 | £HIR (E#)
618|9| L  T mn o 54.0 (1 1/4) Oy |mEEx
T 7 =Ty HE A
717 gl m 1y —F K o2 *ﬁgiﬁgi 1:51.3 7-7-7-6 | 38.9| 66.1 | 1 472 ?qu# (5m)
. INF —
QELFOYY BITL KL ) (b ity
5 BB 1:51.9 15-13-11-9 | 38.5 | 62.7 | 4 484 | BtETE (RR)
TA T4y xR o2 54.0 o — _
: (3172 _ () AL —XK—2X
LIET7xA4T7 B:UXA YL b =) BT r—L4
J—ILRY 4 X5 — Ho2 %l;ﬁ%:t 1:52.7 12-12-10-9 | 39.4 | 54.7 | 14 | 446 ;f%gsa (=)
. 5 _ i 5
L:T—IWVRI-X B:TVFqTI—L4 © =) 5 iﬁzg
j S AR ABEN 1:52.7 10-9-9-8 [40.0| 52.2 | 9 434 | BAE (KH)
JL—=o2 0% Kb o2 54.0 5 S 5,0,
0 JE _ (B) > L=
R:29)—>e—A— B:Ya3vaXvFUr ( ) =) iﬁﬁ%—z
N HEFHB 1:54.5 9-9-12-12 | 40.9| 38.2 | 5 472 | BAREX (FH)
214421 FIIT 2 B ‘
: (214) _y |HFEE
AT —h 773> BNTY YN — (=) N
Sw) T oy [ — 4 o2 | EEBZ 1:54.7 5-6-5-9 |42.4| 38.8 | 12 | 540 |ALHEA (FR)
A e 5 (11/2) -y | ) 7995 77-4
.47 RT—EY B:TUUS 7975 TT—L4
Uz Rk H o2 ﬁﬁ’%ﬁz (12:515/.21) 10-9-13-13 | 41.0 | 34.3 | 15 | 458 ﬁ;g;&ﬂié%fg .
. TR —
RivWhYrry BiRE—F1RHLZR ) e k77— L
FIALRA =1 — B2 %E%‘bﬁz 1:55.8 13-14-14-14| 41.5| 28.9 | 6 498 iéé@ﬁ (&)
. 4 _y | EmEe
RAVIESAT BT TR Y= “ ) | ) Maa-KL—varaETy
oy e I FE R 1:55.8 13-15-15-15| 40.4 | 31.8 | 10 | 464 |fREEME— (KiH)
—RK2R #o2 | e 5 [l
. + _ RRE
R:27)—>e—A—- B:FLTFT7ZEX ( ) =) (Aiorie]
@ 21 L
£ 50.6-37.5
NA>ZA L | 7.2-11.9-12.9-13.3-13.4-13.1-13.1-12.5-11.9
® 1—F—@EBIERL
1T=7r= 6,9(3,14) (8,10)-(1,13)2(7,15)-12-(4,11)5
Pal=5F= 6,9(3,14)8,10-(1,13) (2,7,15)12,5,11-4
Jo=5r= 6,9(3,14) (8,10) (1,13)-7-12,5,2-15,11=4
43—+ — 6(3,9,14)-8(1,13)7(12,10,5)=2=15,11=4
[ N5
B 6 590M 714K 3-6 1,580 e E 2-4 1,230 JEE 3-6-14 15,010
# B 6 210H 6-14 1,000H B = 3-6 4,950 3EE 6-3-14 71,630
3 380H 3-14 2,120 B H 6-3 8,090
14 230M

ABTICOVTRDTEEERROODE, JHB LS,



